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rrrLe 1 ﬁﬂﬁﬁ%ﬁ d 9 -9 U gal ﬁﬁfﬁ‘d
: T correctly (W) (TStumY)
following is NO -~ &
Which one of the el (a) ARTHI PRIE:
" matched ? Capita b) TN 3
ma(ccounth) = (Rabat ((c; oA T3 = SSRGS
Morocco —  Tunis - TS
éﬁ; I}mi?ii: » Algier'S(o Ad) H9 S
ge - Bama : .
((33 Cape Verde ) 2 Y4 i ﬁ‘@ 91371 W hal q TR B3T ¢
Soi TR
was the Mitti Bachao (Save . Ag) uT, c
2. Where in India ? b) HAICH
Movement started in ( 4
(a) Thane, Maharashtra (c) T,
(b) Mysore, Karréairtg;a (d) BISTIETE, RNy
Darbhanga,
((g; Hoshangabad, Madhya Pradesh h s 2ol s m Y . S
3. Postmasburg and its adjacera‘nthaorfetérijse fogngg?g g ' frafeifiaa & Q forg @i = Y@ ITCH & 7
At;:icéerl ;lssn;ajor producer of whic (a) I{Iﬁmw (b) WTETEe
(rg) Uranium (b) Bauxite o) LUEIE (d) 3%
(c) Manganese (d) Mica ;
4. BRG T8 99 (I 7186 sHae) % 3w
4. Without green house effect, the average - L IC ?PTI
temperature of earth su(gice :v;léld be (a) 0°C T - 18°C
(a) 0°C ik 0 d) -20°C
(c) 5°C (d) -20°C AT o " ]
5. Match List - | with List — Il and select the correct S. @ = | ?a@g ;;g w@l&gﬁqliliﬁli.ﬂlﬁ?ﬂ Eﬁ & | |
answer using the codes given below the lists - Eii| %< ' . :
List - | List - Il i - | T - |
(Mountain) (Country) (qea) (39) i~
A. Atlas 1. France/Spain A. TeeTH 1. %8 /T ;
B. Kalimanjaro 2. Ecuador B. sferdsm 2. SR
C. Chimbrozo 3. Tanzania C R 3. TS \
D. Pyrenees 4. Morocco D. U 4. TR i\
Codes : : =)
A B C D E a c b .
@ 4 3 2 4 A |
@) 4 3. 2. 1 \
o 2 1 22 ) 4 1 2 3
() 2 3 4 1 (c) 2 3 4 1
@ 1 3 4 2 @ 1.3 "4 °9 |
6. The entire Séquence of communities that qer quishe ST SRS e wemw
SUﬁCSSSively change in a particylar area are S ? Gg Uh \
(@) Ecological succession (a) aritfeufees S shH
(b Sere (b) "R
C) Community dynamics e e Ty
(d) Pyramid of biomass i é;{%mm %1 R
7. In Malaysia, the ‘Kinta Valley’ is famous for 7. AT o fepua Ty m 3
(@) Rubber Production X
(b) Tea Production \/({) ST IqreH %Q
(€) Tin Production (b) =13 3T % fi’m
(d) Coffee Production (c) fem 3TTEH & foru
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16.

17

18.

19.

20.

21,

In human body, the digestion of protein begins in
which of the following organs ?

(a) Liver

(b) Mouth

(c) Small intestine
(d) Stomach

In the removal of which of the following officials
does the Parliament NOT play any role ?

1. Judges of the High Court
2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission

4. Comptroller and Auditor General of India

Choose the correct answer from the codes given
below.

Codes :
(@) 1and 2 only

(c) 1,2 and 3 only

(b) 3 and 4 only
(d) 3only

Use of polished rice in human diet causes
following diseases

(a) Rickets
(c) Goitre

(b) Anemia
(d) Beriberi

The superintendence, direction and control of all

elections to the Panchayats are vested in
(@) The Governor

(b) The Election Commission of India
(c) The District Panchayat Raj Officer
(d)

d) The State Election Commission

Which of the following vitamins is mainly responsible
for blood coagulation in human being ?

(a) Vitamin K (b) Vitamin E

(¢) Vitamin A (d) Vitamin C

Which one of the following pairs is NOT correctly
Matched ?

(2) Interstate Council

| . - Article 263
(b) ananqe Commission — Article 280
&g)) delmstrative Tribunal — Article 323A
nion Public Service - '
Commission Article 315

RFL -1

16. wHE R & NER F1 qraa Feafafea o @ foa am
WY g @ 7
(a) Ipd

(b) &
(c) B 31Td

\/(a)amwm

17. e 3 @ P-Q vl @ gert § wHg ) B
vifehT 7@ Bt 2 7
1. I=9 AT & e
2. I=IqH AT o e
3. ALY, G9 HArh AT I
4. YA & e 3R qereraadies
A @ ™ e & wdt I g |
He:
(@) shael 1dYT 2 (b) shael 3 TUT 4
(c) shael 1, 2 qT 3 ) e 3

18. AMa 3N 4 wifersr fF 23 =rae & 3w @
fr=feriaa T & s 2
(2) F@T T
(c) HeT

(b) TFdTETdT
ey st

19. damﬁ%%qmaﬁméwﬁ?ﬂaﬁ%m

1 reiteger, Feem 3R fi fifia g 2
(a) TSI9TA |

(b) Wra & fatew am o
(c) Torem Tarra U Irfrerd
() Tsg Tataa s |

20. ﬁw%f@aﬁﬁﬁ:-mﬁzﬁaugwﬁm%mﬁ
o fore fien R 7
e T &

(b) faerfim 3
(c) faarfim

(d) faerfim <
21. W@ﬁ%#-w&@gﬁmﬂﬁ%?

v(a) 3= giye ~ 3T 263
(b) for 3w - 38T 280
(c) ywmafeh Aty - 3Rt 323 %
(d) 59 ok Jan AR~ e 315
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> Consider the following statements about human

brain .

1. The brain is responsible for regulating the
heart beat.

2. It is responsible for balancing the body.

Select the correct answer using the codes given
below.

Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) 1 and 2 both are correct
(d) Neither 1 nor 2 is correct

3 Which Article of the Indian Constitution describe
the Centra! Vigilance Commission ?

(a) Article 268 (b) Article 280
(c) Article 276 (d) None of the above

>4 Which of the following substances is obtained
from a tree ?

(a) Asafoetida
(c) Tinca!

(b) Bitumen
(d) None of the above
25  Consider the following Chairpersons of the
National Women Commission :
1. Jayanti Patnaik
2. Mamta Sharma
3. Dr. Girija Vyas
4. Dr. Poornima Advani
Select the correct chronological order of their
appointment from the codes given below.

Codes :
(a) 2,1,3and 4
(c) 1,3,4and 2

(b) 2,3, 1and 4
(d) 1,4,3and?2

26  Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R) :

Assertion (A) : Invert sugar is more sweeter than
SUCrose.

Reason (R) : Invert sugar Is obtained by the
hydrolysis of sucrose.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the’
correct explanation of (A)

(c) (A) is true but (R) is false
(AN [AY ie falae bt (R) 1S true

Hifsra
1.:@@5@%@%&3(@%%@3‘@@%‘
z,ugyrﬁ'{%li'ga?%ﬁmmméi

A fol ™ e @ wé I I |

xe !

(a) ot 1 TEI B

2 WA B
(c) 1 3T 2 <1 w2
PEEIRERPE R

23 Wﬁ%ﬂﬂmaﬂa-waﬁ%ﬁaﬁ“m
TN 19U T & 7

FeIE 268 (b) 3FT=eT 280
Vgaﬁ@azve (d) IFF H & FIE T
04 e i & AH-a gae 4 & I R S 2 7
7(4@7!\/ (b) Trersia
AL TR (d) I § | HIz TE
05 A Higen s % Fefafga serdt W EaER
shifaT
1. gl GZAEH .
2. WHdT I
3. . e =
4. 2. qfoiHT 3rsaml
= ffeq & gdt seged 9 fad ™ %e H
g |
L I
(a) 2, 1, 3 3 4 (b) 2, 3, 13 4
(c)1,3,43M2 (e 1,4 33MW2

26. 2 @ e fed ™ €, e | w8l Fum (A) aen
Zat &1 SR (R) 81 T4 8
;;w%m:gm@mmmmaﬁww

I

WO (R) : W19 ¥R ! GohIS o Sei-3T9e §
s femarn ST 2 o

fia fodt T e @ g I g |

L I ;
&) (A) 3 (R) 21wl & 1 (R), (A) W&
ST Ll B
(b) (A) 3 (R) a1 el & 9t (R), (A) ! wel
ST A8 HLdl B
(c) (A) & & 4G (R) Tetd &

(d) (A) TTetd ® uted (R) O R
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.i ’ \c/\c/)rr‘wlt(;?ns Trc:: er:fouow‘"" Natural sub -
(Fe) ? | stances | g Waammmamwaw
] (a) Chlorgphyll (b) Collage R 7
(c) Keratin (@) Mm‘og ar weife (b) I
! (c) *ufed (d) W

g The equator does NOT . :
dee following Conntiea s T i of | @ St @ et 201 A B e R

| 1. Gabon o R 7
.' 2. Somalia 1. =
| 3. Equatorial Guinea /2 et
; 4. Rawanda 3, e @
: Select the correct answer ‘ 4 @S]
| - using the codes given ﬁﬁﬁ@feﬁuﬁmiﬁﬁ \
Codes : w2
(a) 1and 4 (b) 2 and 4 (a) 13 4 ey 234
(c) 2and 3 (d) 3and 4 (c) 2 3 3 (d) 33t 4
10 S:‘?e%ge in the base sequence withinageneis | 10. T ¥ et aEEHn AU ¥ oftads weam &
a) Mutation (b) Cloning Ny e (b) SfeEa™
«c) Fusion (d) Breeding (c) EaH (d) W
4+ Wnich Part of the Constitution has the provisions | 11. SRy % fel W | qaradl Td A&l gra-yl
for Panchayati Raj System ? qrauE 23 ™ R7
(a) IX (b) VI v(am (b) VI
(c) Il (d) IVA (c) Oﬁcﬁ\lVE
(5 \Which of the following is used in fire alarm ? 12 W;HT‘S ¥ Prafafigd # | g 394 faran
AE e ?
(a) Photo cell (b) Water (a) T g (b) qrft
(c) Solar cell (d) None of the above (c) EX | A) IWad § H1e TE

When was the third tier added to Indian Federal

(S

| System ? ) o (a) 1990 (b) 1991
| ‘a) 1990
| ((c; 1992 (d) 1993 (c) 1992 y’) 1993

ing polymer is NOT a

14 Which of the followin
thermoplastic ? . Mecprene (a) TFIH \/{) g
i e (d) Polythene (c) ST (d) qiferefi=

(c) Polystyrene
is NOT possible py a law of

15. \g;hrlnc:nc\);:\r:i;o(;f:v Ar:t?cle 3 of the Constitution ? e T '*T‘E‘ 0w TR 2
' (a) Formation of new States (a e trs!ﬂ w.n‘.&x
(b) Alteration of areas of States (b) “Ug ¥ o= o qﬂaﬁq
(c) Alteration of boundaries of States (c) ﬁ. drratt # qiEds
(d) Admission of new States \)d‘) A T @
3-
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27.

(d) Ladakh

28.

29.

30.

31.

____“',-"‘n.'”' o o

Which region of the country conferred special
status under Article 371-J of the Constitution of
India ?

(a) Nagaland

(b) Hyderabad and Karnataka

(c) Maharashtra and Gujarat

Match List - | with List — |l and select the correct
answer from the codes given below the lists :

List -1 List -l
(Metal) (Property)
A. Sodium 1. Good conductor
‘ of electricity
B. Mercury 2. Liquid at room
' temperature
C. Silver 3. Poor conductor of heat
D. Lead 4. Can be easily cut with knife
Codes : |
A B C D
@ 2 3 1 4
b) 1 4 3 2
c) 4 2 1 3
d 4 1 2 3

Which one of the following is NOT correctly
matched ?

(a) Fundamental Duties - - PartiVA
(b) The States - Part Vi

(c) Attorney General of India - Part XIl|
(d) Services under the - Part XIV

Union and States

Match List — | with List — Il and select the correct

answer from the codes given below the lists :
List - | List -1l
(Substance) (Use)

A. Blue Vitriol 1. Artificial rain

B. Eosin 2. Fungicide

C. Silver iodide 3. Red ink

D. Zinc phosphide 4. Rodenticide

Codes :

A B C D

@ 2 3 4 1

(b) 2 1 3 4

¢ 2 3 1 4

d 2 <4 1 3

Which Arti¢les of Indian Constitution are related
to citizenship ?
(a) Article 3to 10

(b) Article 4 to 11

(c) Article 5 to 11

(d) Article 6 to 11

A B C D

@ 2 3 1 4

) 1. 4 3 2
e 4 2 1 3

d 4 1 2 3
29.

(a) qel oA

(b) T4

(c) MTd &1 HETHEETE!

2r.
firg &7 = faow &
\/(zﬁrm'éﬂg
(b) FeuETe I HATEH
(c) WETreg AR TIUd
(d) @@
oe Tt - | H g — 1| @ ghf A T g S
gﬁa@@ammﬁﬁw
e - | gt - I

fPrefeifes A & RA-91 T GE gafera @ & ?

- ¥V
- ¥ Vi
— ¥ X

ﬂ@sﬂtuﬁ%méﬁrﬁ — I XIV
30. g — | & gEt - || & gufea Hife aur gfagt &

= ol M e @ v 3w g
gt - | g - I
(agred) (3rTrE)
A. e e . W i
B. 337if&A 2. AT
C. faeat 3. T ST
D. S wieweges— 4. Famameh (TS=eATeh)
w2 :
A B C D
@ 2 3 4 1
® 2 1 3 4
2 3 1 4
d 2 4 1 3
31, HRAW GRUH % - 3 TR 3 gaftd ¥ 7
(@) =BT 3/ 10 (b) =BT 47 11
AT FTRE 511 (d) ITRE 68 11

e e s ——————— i W

33.

39.

36.

™ o e e >




36 Which of the following cities

32. Which one of the following Substances is NOT

synthetic ?
(a) Fibroin (b) Lexan
Teflon

(c) Neoprene (d)

Which is the largest Commi :
Parliament ? lttee of the Indian

(a) Public Account Committee
(b) Estimates Committee

(c) Committee on Public Undertaki
(d) Committee on Petitions ke

According to the Report released by NITI Aayog
in Decemper 2019 on ‘Sustainable Development
Goals India Index 2019-20’, the Uttar Pradesh. is

grouped under which of the following categories ? -

(a) Aspirant

(b) Performer
(c) Front runner
(d) Achiever

Given bel_ow are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : The nature of Indian Political
System embodies the elements of ‘continuity and
change'.

Reason (R) : The Indian Political System
contains the elements of the following political
system such as the modern style, the traditional
style and saint style.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

39.

of Uttar Pradesh

s/are covered under the ‘Heritage City [?gvelopment
and Augmentation Yojana (HRIDAY) *

1. Varanasi
2 Mathura

~

3. Prayagraj
4. Ayodhya
Select the correct answer from the cod
Delow.
Codes :
(@) 1 only
IC) 1and 2

»N

es given

3 only

b
(b) 2 3and4

(d) 1,

RFL - |

32. freafead & -1 Him vee 78 2 7

N FTEHTE (b) wFET
OREEIIE (d) ¥
33, YR G & ged §<) giufy wH-d 2 7
V¢a>ma@m
(b) WTeeheE Ffufd
(c) &k 3ushy |iHfd
(d) arfaep afufa
34, Hfy s gro femmer 2019 § St ‘@dd o
Al WA geehish 2019-20" T S até & 3TFHI
I ey i Fy=ferfag ant § & frad arffea fha
TR 7
(a) 3meiaf (Tefite)
DT 38T Je3H (THIT)
(c) 3vfl (We TR)
; (d) A& UTAehal (TEiER)
35 419 2w fod A £, Pl A o ) Hu (A) A

Q8 ! HNVT (R) FHaT AT 2
®UA (A) : YR USHfash sawen 6l gHfd A
foar vd gftad=’ & dcd gd €9 | 9 S0 7 |
&R0 (R) : YA Uifaes saaeyn 4 fam uerifae
ST -3y Aeft, TERnTT Neft 91 g4
it & dca gaTfEd 2 |
fie &3 ™ %z @ wd 3w g |
F:
(a) (A) 3 (R) T |&t & @91 (R), (A) i T
ST LT 2
(b) (A) 3 (R) 3Hi &&l & W (R), (A) T G&l
ST 981 &l 8
AET () T R g (R) T 2
(d) (A) TeTd 8 9% (R) WEl 2

I Yeu & Frafafes =i & @ H9-w1/38 faugs
wiet foehrE 3R gfg A9 (8eq)' & I=ata wnfire
ERIRRIACDRICE Ji

1. GRIUH!

2. W
3. WIS

4. e
fr= fea m %2 | wd I g |

F2
(@) Hae (b) ae 3
‘/m1,2,3aﬂz4

36.

(c) 13 2
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37.  What can be the minimum strength of Council of | 37 S 3,
Ministers including Chief Minister in the States ? qE el & b) 12
(a) 10 (b) ;
(a) 10 (b) 12 - \}‘7 14 i
(c) 13 (d) 14 (C) . g
o ¥ SfEeTg W deh TE & fau S |
38. What should be Total Fertility Rate (TFR) of a [ 38 % ) 7o @ I 7
population in order to reach at the replacement $A T4 (21.T%. 3.
level of fertility ? (a) 1.0 (b) 1.6
(@) 1.0 (b) 1.6 d) 2.3
(c) 2.1 (d) 2.3 et (
| ey T 3 Al % HTUR g |
39. The Supreme Courtof India enunciated the doctrine 39. ¥Nd & (
i P ¥ fagrd @l vre fopa (
of “Basic Structure of the Constitution™ In 1067 3
(@) The Golaknath Case in 1967 (a) T STG 1973 3 44 7
(b) The Keshavanand Bharati Case in 1973 A 3.;3'3':'@ TRl 91g 5 f (3
(c) The Shankari Prasad Case in 1951 ORE TG dTq 1951\. ..-' (b
(d) The Sajjan Singh Case in 1965 (d) w4 fgg arg 1965 H N |
o N \ \ . N : (C)
40. Which of the following methods has/have been | 40. *Rd H 1] b SHH &g freferfad @ | @“‘W‘?
used to estimate poverty in India ? farferat a1 g fopa i @1 8/2 7 a8
1. Head Count Ratio 1. fogg o fafy 5 (d)
2. Calorie intake 2 HeAlt BT 45 Gi
3. Household Consumption Expenditure 3 gifarfes 379N o9 | - ":
4. Per Capita Income 4 fy safFd ; :zse
g:llgvc;t the correct answer from the codes given 3 23 T %2 J e IW gﬁu | ; faitar
; . e Reas
Codes : LA i3 i 5 with [
(a) 2and 3 (b) 1,2and 3 Q)RS W 1,231 3 ; o
(c) 3 only (d) 1,2, 3and 4 (c) F 3 T 1,2, 331 4 | below
- : , : Code:
41. Which one of the following is NOT correctly | 41. frfefaa 5 d $H-41 U Hal gaferd a2 2 ) (a) Bo
matched ? 38E 39A - GHMF 9 U4 e [
(a) Article 39 A - Equal Justice and free \_/(Z)' | s ' B (\ y e
legal aid : i L (b) Bot
(b) Article 40 — Organisation of Village (b) 31=®< 40 — UTH 9919d] sl 1134 : cor
Saf;ChaYStSl - (c) 3T=8T 44 — |9H i gfgarn (c) (A)
(c) Article 44 — Uniform Civil Code St < | .
(d) Article 48 — Separation of Judiciary (d) G = \” EUCEaNEa B AR ISR (9) (Al
from Executive q JYarhiv] 46 With ref
5 = ‘ the follo
42 With reference to ‘Ayushman Bharat Yojana'which | 42. ‘3 ¥R AHT & #<d # f=fafea 4 4 1 ‘HAL
of the following statement(s) is/are correct ? HI-T1/8 HUT I 2/2 ? | Minis
1. This Yojana provides free health insurance 1. 8 Irs497 ufg O = S
of Rs. five lakh per person. 98 b Sfdd 919 @ w93 &1 H%d j , f@:
2. The expenses incurred in this Scheme g b : _ i Care |
(Yojana) is shared between the Centre and 2. ¥4 IISHT H FH 9101 49 H &g 3R TS A Select the
State in 60 : 40 ratio. wrfierdt 60 : 40 & H{91d 4 &dt & | ; below.
Select the correct answer from the codes given e fea m $e 4 981 3| gﬁm , ! Codes :
gelgw. Fe 1 (a) 1 only
odes : ae x j Both 1.
(a) 1 Only (b) 2 O.nly (a) . (b) 373?‘1 2 g (C) O
(c) Both 1 and 2 (d) Neither 1 nor 2 /K) 1 31k 2 gHi d) Id 198 2 | :
D 8- |
{ |
H
i
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43. Consider the following statem
of Attorney General of India -

1. The President shall appoint a person who

IS qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such
remuneration as the Parliam

ents in the context

ent ma
determine. :
Select the correct answer using the codes given
below.
Codes :

(@) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

44. The main objective of sustainable tourism is
(@) To increase the number of tourists

(b) To manage mass scale tourism and small
scale travel

(c) To manage tourism and environment while

maintaining cultural integrity and ecological
processes

(d) None of the above

45. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-
federal’.

Reason (R) : India has an independent judiciary
with power of Judicial Review.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

46. With reference to the ‘'HAUSLA — 2018’ which of
the following statement(s) is/are correct ?

1. 'HAUSLA — 2018’ was organised by the
Ministry of Women and Child Devglopment,
Government of India in New Delhi. |

2. It was National Festival for Children of Child
Care Institution. |

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

RFL — |

43. YA & WETIEETd & geed § fy=fefigd 9l ®
féranaﬁﬁ-m:
1. Tgafa bl W safa 1 fagfda wom S0
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|

2. WEIAHATE! 31 uriisfiyes yred hum S HEQ
3aYTig X |

e fea 7 Fe @ ad 3w gfe |
Fe
(a)m1g§
(bY haet 2
(c) 1 3R 2 gHT 4t &
dFdA 138 25

44, TINEHE (TRAE) e % g 30 2
(a) Wizl H g@ | gfyg
(b) 98 WM W Wi 3 oY I 9T ATHIA] 1
Y& T
AC) arpfash srgued ok wiitfeufas ufseansti @l
S T@d U G 3 gAafatv) ey il
(d) 3utigd ¥ & +I3 7

45 4 g *yF foa m B, 5 4 v 1 HuF (A) 99
gt %1 HAVT (R) FHET T4 @ :
HUA (A) : M HETcHS SHEY] 1 ‘374 -HaTeHeE
el ATdl 2 |
&I (R) : YRd H U a3 aauifass 2 59
—nfyes gAfifer & sifaer 2 |
Hre g 7 % W 8 vl 3 g |

@ (A) 3T (R) gHi |&T & 31 (R), (A) $1 g8
~ AT T R !
(b) (A) 3R (R) qHI @& & T (R), (A) Fi wa
ST A8] Al B
(c) (A) 8 2 9 (R) Teld 2
(d) (A)7eid 8 9% (R) @ 8

46. BH - 2018 % Fe | Fffad ¥ & -/
HYT TE 2/8 7
1. ‘BT — 2018’ T IR 9iget w9 a7
faehra WaTera, wRa R g T8 feeeh 1
feram TR o1 |
2. 98 9=l ! C@-1E@ HA el GEq137 ¥ a5
1 U Ic8d o |

A fe ™ e @ 7 3w g

E T4

(a) sad (b) et 2
e 1 3 2 i (d) Fd 19 & 2




-

47. Joint sitting of Lok Sabha and Rajya Sabha can
take place to resolve deadlock over

(a) Ordinary Legislation

(b) Money Bill

(c) Constitutional Amendment Bill
(d) Appropriation Bill

48. India aims to achieve the 5 trillion dollar

economy by
(a) 2022 (b) 2024
(c) 2026 (d) 2030

49.  Which of the following gave legal basis to extra-

ordinary powers exercised by the Government
of India during Lockdown ?

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005
3. Enemy Property Act, 1968

4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given

below.

Codes :

(@) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

50. Human Development Report 1997 introduced
the concept of Human Poverty Index (HPI) but
Human Development Report replaced it with
Multidimensional Poverty Index (MPI) in the

year
(a) 1999 (b) 2005
(c) 2010 (d) 2015

51. Match List - | with List - Il and select the correct
answer using the codes given below the lists :
List - | T List - I
(Article) (Provision)
A. Atticle 61 1. Removal of Deputy
‘Chairman of Rajya

Sabha
B. Article 67(b) 2. Impeachment of
President
C. Article 94 3. Removal of Vice-
President
D. Article 90 4. Removal of Speaker
Codes : '
A B C D
(a) 2 4 3. 1
(b) 3 2 4% %Y
(c) 2 3 45 3
(d) 4 1 347

RFQ~|

Prrferfig 1 @ frg T TR0y g HE B S
- 3t T w1 I GgFd Ao B whd1 R 7
(a)mﬁm
(b) u fadas
(c)@mﬁamﬁm%m
ﬂ%ﬁﬁﬂﬁm

48. WA 5 foferm sror srdeuavyn &1 ¢4d % deh
H A & ALY [T B 7

(a) 2022 AP) 2024
(c) 2026 (d) 2030

49, SIhSI' & QN WId HIHR & g Sad FTETHRY
vifFaai =) fafus anur Frefafaa d @ fo wrE]
4 T B3 7
1. Hee BeY HI g2, 2017
2. fesret e wae, 2005

3. Wg-grafe a1 ufaedt wadf vz, 1968
4. vfusfie fesfioe uae, 1897

A fed M %z § wé 3T gf

He:
(@) 1,23 3

.\/corzaz‘ru

50. WHE el Ferehish (TH. .38, ) Y Igyumer neg
mﬁgémwﬁmﬁaﬁw,éﬁﬁmﬁm i
ﬁmnﬂa‘i@m(mm.m.)m %

Frerfeftae & @ form o & et @ ey 2 1

(b) 2, 33 4 1
(d) 1,33 4 1

(a) 1999 AP 2005
(c) 2010 (d) 2015 |
S1. T - | 9 g — 11 @ giferm A o gfed ¥
Tﬂéﬁﬁrﬁﬁﬁﬂﬁ?ﬁﬂﬂﬁﬁ:
T - | L
(I1Te83) (TrET)
A. 3¢ 61 1. TSY 991 & 3Iy-guafy
! BMI
B. I=8%67(@) 2. Ut W wifiym
C. 3q<ae 94 3. JWTHTY &) 7o
D. 3=8¢g 90 4. TR A gy
C T4
A B C D |
(@) 2 4 3 1 |
(b) 3 2 4 1 1
A€ 2 3 4 1
(d) 4 1 3 2



Codes :

(a) Both (A) and (R) are true and
correct explanation of (A)

(b) Both (A) and (R) are trye but (R) is not the
correct explanation of (A)

(c) (A) Is true but (R) is false

(d) (A) is false but (R) is true

(R) is the

On which of the following dates, Constituent
Assembly of India adopted the National Flag ?
(a) 22 January, 1950

b) 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948

With reference to the World Bank’s Ease of

Doing Business Report, which of the following

statement(s) is/are correct ?

1. In Ease of Doing Business Report 2020,
India’s rank is 63.

2. India ranking for Ease of Doing Business in
the year 2019 was 77.

Select the correct answer using the codes given
Delow.

Codes :
(a) 1 only (b) 2 0.n|Y
c) Both 1 and 2 (d) Neither 1 nor2

In which of the following places the Bio-technology
Park is located in Uttar Pradesh ?

3) Kanpur (b) Ghaziabad
©) NOIDA (d) Lucknow -
-imit of investment for outstanding corp.Oratgubc?gﬂedt
or Foreign Portfolio Investment in Union
<U20-21 has been extended upto
N 90 (b) 10%
e (d) 15%
11-
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MoT 24 Satt, 1950
(c) 22 93, 1947
(d) 22 T3, 1948

54. fava o« & 9 3% g0 faomg e & g 3
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| gl fud 8 7

(@) YL W RIIERIE I
(c) ATuET (d) &ETH
56. i WS 2020-21 % G IHR FURE e §
faceft aéwifert faw & @ sqr & w2
(a) 9% dh (b) 10% dh
(c) 12% d _Ad) 15% T




. R oy e

i

57. The Development, Monitoring and

n
Office. which monitors the progress of lo
policies in an attached office under

(a) Prime Minister Office
(b) Ministry of Home Affairs
(c) Cabinet Secretariat

(d) NITI Aayog

select the correct

58. Match List — | with List— Il and ALY
answer from the codes given below the lists :
List—| List Il
(Scheme) (Launching Year)

A. P. M. Jan Arogya Abhiyan 1. 2015
B. P. M. Vaya Vandan Yojana 2. 2018

C. P. M. Rojgar Protsahan 3. 2017
Yojana
D. Swachh Bharat Abhiyan 4 2014
Codes :
A B C B
(@) 2 3 1 @
(b) 1 2 3 4
(e 2 3 4 ¥
d 2 4 3 1

59. Which of the following statements is NOT correct
for National Pension Scheme for Retall Traders/
Shopkeepers and Self-employed persons ?

(a) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(c) National Pension Scheme’'s member are
also eligible.

(d) It has a monthly minimum assured pension
of Rs. 3000.00.

60. With reference to the programme “NIDHI” which
of the following statement(s) is/are correct ?

1. The programme of “NIDHI” was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

61. The concept of ‘Ecological Transition’ was first
used by

(a) Elton (b) Bennett

(c) Berkeley (d) Ratze!

C. .. U Wewred AIw 3 2017
D. T WId AT . 4. 201

&e .

A
(a) 2
AT
(c) 2
d) 2
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62. Which one of the
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67. Arrange the following events in chronological

order and select the correct answer from the
codes given below :

| Rio Earth Summit

|I. Publication of Brundtland Commission Report
11l. Enforcement of Montreal Protocol

IV. Publication of “The Limit to Growth' Report

Codes :
(@) I, IV, 1l 1l (b) IV, I, I, |
(c) IV, Il 1| (d) v, 1, 1,1

68. Consider the following events and arrange them

in chronological order :
1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank
Select the correct answer from the codes given

below.

Codes :

(a)4,1,2,3 (b) 4,2, 3,1
(c)1,2, 3,4 (d) 4, 328

69. The National Chambal Sanctuary does NOT fall
in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan

70. With reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?

1 Prime Minister had launched the Skill India
Campaign in July 2015.

2. The main objective of this Campaign
was to train India’s Youths in information

technology.
Select the correct answer from the codes given
below.
Codes :
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

71, National Clean Air Programme has been launched
by the Central Government in the year

(a) 2018 (b) 2017
(c) 2020 (d) 2019

72. The rulers of which of the following dynasty have
been called as ‘Shriparvatiya’ in Puranas ?
(a) Vakatakas (b) lkshvakus

(c) Shaks (d) Kharvelas
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73. Which of the followin C :
a poverty line basedg Pty
exclusively ?

(a) Alagh Committee

(b) Lakdawala Committee
(c) Tendulkar Committee
(d) Rangarajan Committee

(b) Administrative Management
(c) Construction of roags
(d)

Revenue management

Which of the following indicators is NOT used to

calculate Human Development Index (HDI) ?
(a) Life Expectancy

(b) Education
c) Per Capita Income
(d) Social Inequality

Match List — | with List — Il and select the correct

answer using the codes given below the lists -

List — | List - II
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura
B. Kuru 2. Potan
C. Sursena 3. Virat Nagar
D. Asmak 4. Indraprastha
Codes :

.b.._x.h._\o
- NN WD

The idea of ‘Cultural Poverty’ was given by
\a) Oscar Lewis

D) Gunnar Myrdal

\C) Aashish Bose

\d) Amartya Sen
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78. Given below are two statements, one is labelled

79.

80.

81.

as Assertion (A) and the other as Reason (R) :

Assertion (A) : We have much more information
about Cholas than their predecessors.

Reason (R) : The Chola rulers adopted the
practice of having inscriptions written on the walls

of temples giving a historical narrative of their
victories.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

During the mid 80’s decade of twentieth century,
the negative aspects of development were
discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources

(b) Environment pollution

(c) Politics and Development

(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited ‘Bhimbetka Caves’ and discovered prehistoric

significance of its rock paintings ?
(a) Madho Swaroop Vatsa

(b) H.D. Sankalia

(c) V.S. Wakankar

(d)

d) V.N. Mishra

The discussion on ‘Sustainable Development was
started after submitting a report on environment
to the United Nation in 1987. That report was

(a) First Report on Climate Change

)
b) Our Common Future
c) Second Report on Climate Change
)

d) Fifth Assessment Report

78.

79.

80.

81.
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T8 Dunng the mid SC's decade of twenbeth century, | 7O, STGST B S Il ¥ oW & U AW & TS
the negatve aspects of development were o8 S ReaR @ I 9 1 | Refefse 8 8 s9-a
s scissad at ia:ge \_'@a,h one among the = A w T ui? Q4
TicwNg w3as NOT such important 2 N
(3) ViSias FEUF F W@
.&: Dagradaoon of naturas resowrces s
‘> Environment pofution (0) TS T
S Paltcs and Deveicoment \/(CT EECULREREEaT:
S Desplacament and Rehabitation of masses (d) §HEHE § CCCRGE RGEILS
# |
SC. Which of the folliowing Indian Archaeologists first | 80, R=iiciisa § 3 158 YRG Wiawadl 1 g&al |
vsSied Bhimbeika Caves and discoverad prahistonc SR WiHSSH! TH" H @1 3N Ig V= & | |
significance of its rock paintings ? YRIGEIaS 98 & GIFT ¢
2 ' Maaho Swaroop Vatsa V,g) O §EY 99
b H.D. Sankalia (b) TS .31, FSiicw 35
c) V.S. Wakankar (c) S1.UH. ISt
d) V.N. Mishra (d) Si.wq. fasn .
81. 1 c-%-—mm Sgsrama&eDe»esoomemwas 81. 9% 1987 ﬁwwﬁwgwﬁaqm ]
started after submitting a rep:;r}t;q environment gfedes § T ¥ I Ry & R (
0 he Un.lea Nstion in 1987. That report was - :
L - §dwuqha\“ta—7¢,"m g’lggg%—éaqan
3! First Report on Climate Change (a) TEER TREET W TRa | 86
(D) Our Common Futur -
| i Py IR S TR
\C) Second Report on Climate Chana : .
= C € Lhange (C) FSaY 2 gfgds ey w g%aa:{
\d) Fifth Assessment Repont > : o
| (d) TISa] Lo I1$7 Yiddeq
D
-16- D




low the lists
List — | | il
(Harappan Site) (UT/State of "
A. Balu 1. Uttar Pradesh
B. Manda 2. Jammu ang Kashmir
C. Padri 3. Haryana
D. Hulas 4. Gujarat
Codes :
A B C D
(a) 3 2 1 4
(b) 2 3 4 1
(c) 2 4 3 1
(d) 3 2 4 1

No. of cities in U.P. which are covered uhder the
‘Smart City’ Scheme
(a) 10

(c) 15

(b) 12
(d) 18

Consider the following statements and select the
correct answer using the codes given below :

i The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes :

(a) Only 1 is correct

b) Only 2 is correct

°) Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

'he Atal Innovation Mission (AIM) is a flagship

nitiative set up by

a) Ministry of Human Re
0) NITI Aayog

c) Ministry of Social Justice an
d) Ministry of Science and Technology

source Development

d Impowerment

Nho of the following was senta

4bourers by Indian Government int

summit of |.L.O. in the year 1919 7 |
/ P. Wadia (b) N-M. Josh!

C F. Andrews (

RFL - |

82. gt — | &1 gt — Il & gAfera Hife qur gl &

e foa ™ e 8 v I g :
=i - | gt - i
(FS01 QU1 ¥4A) (T T /WRd & 194)
A. ST 1. I W™
B. HTSI— 2. SH U9 HN
C. ursti 3. R
D. &9 4. TSHId
Fe:
A B C D
(@) 3 2 1 4
)y 2 3 4 1
L2 43 1
d 3 2 4 1
83. 3.N. % Fo1 08 Vgl S e fafe A | rreaifed 2
(a) 10 A 12
(c) 15 (d) 18
84. Tymfefiga syt w faan $ifse aun = f@a ™
e ¥ Hal 3 MU
1. g & g4 Af=T %1 Iooi@ A9, AEEe,
Heuygd! 991 Jeasl 4 foan 2 |
2. GIE IrETcdd gAYS € grafd o |
Fe
(a) hdd 1 §&l 2
DEESPE:GE:
(c) 13 231 &&l &

HATNAAR 2w R

85. 37ed AdIHN e (u.378.uwH.) e fawm &t ugw
98 B 7
B RIEEEICERCEA REPIE
) Hifa smam
(c) T =g wa YT wae™
CRESIERCEETICARFILD!

86. WRd TN gRI 1919 H 3H3.UA.31M. & 1T
g § wagh o yfafafy & w9 4 fafafea o
g fora 99 mar o 2
\;a)”a‘i.tﬂ.aﬁ‘zm

(c) H1.UF. wgs

(b) TA.uH. e
(d) 8% dufeee




87. The book ‘Silent Spring’ published in 1962 which

88.

89.

90.

91.

set the tone for an environmental movement in
the world, was written by
(b) Karl Marx

(a) Carolyn Merchant
(c) Rachel Carson (d) Rajgopalan

With reference to the Treaty of “Aix-la-Chapelle

— 1748" which of the following statements is/are
correct ?

1. The | Carnatic War was ended.
2. The English got back Madras.

Select the correct answer using the codes given
below.

Codes :
(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following is NOT covered under
Integrated Child Development Programme ?

(@) Supplementary Nutrition

(b) Immunization

(c) Nutrition and Health Education
(d) Family Planning

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List - | List - Il
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4. 1861
Codes :

A B C D
(a) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3

Match List — | with List — |l and select the correct
answer using the codes given below the lists :

List - | List— Il
A. Indus Valley 1. Pastoral
Civilization
B. Later Vedic 2. Land Lordism
Society
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban
Codes :
A B C D
(a) 4 2 3 1
(b) 2 1 4 3
(c) 3 4 1 2
(d) 4 3 1 2

18-

87, 1962 & e g A R e e
¥ el e i Tifd fiefl, % e & |

(a) A T=e (b) T HIFE
\)u)iaaw (d) '

VFg-AT-da — 1748" H @Y & Fo i
frefofaa wut & @ ®9-91/8 T& 2/8 7

1. Yo ieeh gg 6l wHI |

2. 3T I HgT™ H: qed g3 |

—

S
‘l“'

88.

L

f= fed ™ e @ g I AT |

L T4

(a) shad 1 (b) Hadl 2
_e) 1.3 2 i (d) Tal 1982

89. wuf=d = fawrra uf@isHr & =arta fA=ferfiga

ORI
(YK4EIETY
(c) TIUr Ue ey fane
(d) 9fEr g .
90. — | ! gt - || 9 gafera Hifse qur gt &
g @ﬁﬁ@mﬁz
it - | =t - I
A. MR wie rfafaay 1. 1876
B. &t ug Ffufaam 2. 1878
C. YRdg 3= &g 3fufgy 3. 1869
D. W9 faamg fa=ae sfufam 4. 1861
He
A B C D
(@) 2 3 1 4
) 3 1 2 4
(c) 1 2 3 4
d 2 1 4 3
91. — | ! = - || & gifera Hifse qen %
gt - | T - I
A. fay urdl 1. IRTTIR
B. 3 afes gurs 2. SHferd
C. HafeHh FuT 3. F9F
D. & &l AT
%<

NN W=D

"

92.

93
94.

95

(*‘
@)
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)
1. li ; 2
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] <69

"

92. Who had mergeq g

- )

e -
R o S o A L SRl T L LSk a a
- b p

-s
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'E
:
i
z

- Bl oo SN,
2L . b =
RS e —

99

Ikki W
(a) Lord Hastings o lnd'a..? '
) entin
) Lord Dalhousie i
) Lord Aucklang

Kanpur and Lucknow Cities of

cities as per the Census of India ’igetﬁame Million
(@) 1951 and 1961 respe Ctivey € year

b) 1961 and 1971

C

) respective
) 1971 and 1981 4
)

respectivey
d) 1981 and 1991

(
(
( "eSpectively

b) Sarojini Naidy o
¢) Pt. Madan Mohan Malviya
d) Dr. Rajendra Prasad

Match List — | with List

— Il and select the correct
answer using the codes given below the |ists -
List - | List - I
A. Jajmani 1. North India
B. Bara Balute 2. Karnataka
C. Mirasi 3. Maharashtra
D. Adade 4. Tamil Nadu
Codes :
A B C D
a) 1 2 S 4
b) 1 3 2 4
(C) 1 4 2 3
(d) 1 3 4 2

Viatch List — | with List — Il'and select me cl‘}gtr;gct
nswer using the codes given below the :

. List - i
List — |
(Book) (Writer) "
o 1. Surendrana
A The Story of My i
. Banerjee
Deportation ' Abul
" 2. Maulana
5. Gita Rahasya Kalam Azad

3. Lala Lajpat Rai
4. Bal Gangadhar
Tilak

-~ A Nation in Making
2 India Wins Freedom

Codes

AND WP
wbHNNDdD
N ===
-~ WWwNO

———

ISHSFRT: 1971 3R 1081 q
(d) hae1: 1981 3ikt 1991 #

94, ﬁq%%a%mﬁﬁﬁﬁw%aﬂwﬁaﬁam}mﬁ
T @ form o 2
Vg}qﬁx.rﬁtﬁ
“.i'h"“‘“"'é'
(c) ufed He e wrery
(9 . T ware
95. -|ﬁ1{aﬁ-|légﬁ%aﬁhqm +
T - | T - ||
A. ST 1. I 9IE
B. 91 §e[e 2. FAeH
C. faufy 3. HEWS
D. 37S1e 4. dftrerTg
& .
A B C p
(a) 1 2 3 4
b)1 3 2 4
(c) 1 4 2 3
1 3 4 .9
96. ~ | 1 gt - 1| & g aur 2
ﬁﬁ&nﬁwémmiﬁ?ﬁq e
!({d’l—l) -1
( )
Aa%‘?ﬂ*m 1. Gy st
g fEurdsm
B. "ffa1 & - WS g FHeA™
AN
C. U AyH 3 ufdm 3. ST ATYd T
D. 3fvga fag a1 TR T
H2:
AL




Ot S

97. The concept of ‘Marginal Man’ was propounded by
(@) Robert E. Park (b) Robert Redfield

() Louis Wirth (d) Louis Dumont

98. Who among the following established a modem
armoury in Dindigal Mysore in 1755 ?

(a) Nanjraj (b) Haider Al

99.

(c) Devraj

(d) Chikka Krishnaraj

Which one of the following is NOT a major cause

of Wildlife Extinction ?

(a) Loss of natural habitat

(b) To make fire in the forest

(c) lllegal commercial trade of wildlife
(d) Fast pace of population growth

100. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :.

Assertion (A) : The British Government
Introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in
Indian peasantry.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

RFLs
97  wdyym dur sfaq (A A9) hl Heheqt
wferare feam .
(a) e £, T (b) T TSHIeS
(c) &% a4 (d) T§ §I2

98.

99.

100

Prafefes & @ ®H 1755§§fwﬁmﬂ
Iy IEATTR s TG ? ‘
(a) T AT B e

(d) foes! FTS

(c) qaUH

Prafafgd § & F9-81 Th 9ANE! &

1 TH@ HR0T TE 8 7

(a) WThfeeh JATETE HT T B :

(b) STl # TR T AT ;

(c) IR 1 37y arforfoues AR |
ey e $ dig gfe |
. e @ w oA &, e we i YA (A) IR

A I FT (R) T T R |

YA (A) : fafew R 3 wrE & Ae- 3 v |

H Y-SR I IeT- 37 sqaeyT ] i ot |
FROT(R) : 399 WA fepam=i § 3t 37em o1 &9
™ |

1< fed @ g2 ¥ | @ I g |

L T4
A (A 3R (R) i 78 & 3 (R), (A) it 7@

101.

102.

101. In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following
places ?

(a) Hubballi (b) Mysore
(c) Silvasa (d) Chittaranjan

102. Consider the following text and arrange them in

chronological order :

1. Fatawa-i- Jahandari

2. Prithviraja-Raso

3. Kitab-ul-Hind

4. Tabaqgat-i-Nasiri

Select the correct answer from the codes given

below.

Codes :

(@) 2,3, 4,1 (b) 3,1,2 4

(c) 4,3, 1,2 (d) 3,24, 1
D -20-
“:‘ e i - a,,,“‘-l"'-:'__ .__’L;:«Q = o

ST AT 8

(b) (A) 3R (R) 3l w&t & W (R), (A) H T&
SRAT 8] T &

(c) (A) &&l 2 9 (R) 7Teid &

(d) (A) TTd 8 W] (R) Wt 2

WRA & 3T, 2020 ¥ frefofd wE @
RIS IR TS Y Fuisa fm w2

u} S

b
¥
3
:
%
3
#

104.

105.

106.

107,




105

104.

j03. Which among the following becgre

Nation to launch the - ome the first Arab
(a) Saudi Arabia 5o Mission in July, 2020 7
(b) Kuwait

(c) United Arab Emirates

(d) Qatar

Who was the ruler of Golkonda when Aurangzeb
seized the fort of Golkonda in 1687 ? i

(a) Abul Hasan Qutb Shah
(b) Sikandar Adil Shah

(c) Ali Adil Shah Il

(d) Shayasta Khan

Which of the following neighbouring countries of

India has banned free internet for social media

in July, 2020 ?
(a) Nepal (b) Bhutan

(c) Myanmar (d) Bangladesh

Which of the following statement/s is/are correct ?
1. Akbar tried to fix the age of marriage for

boys and girls.
2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.

Select the correct answer using the codes given
below.

Codes :
(@) Only 1
(C) Both 1 and 2

(b) -Only 2
(d) Neither 1 nor 2

7

b i
Which of the following statement/s about Indi
deas Summit, 2020’ is/are correct ?

. iness
I It was organised by US — gt 5;: 2
Council virtually on 22nd.July, 2‘E Weﬁng
? The theme of the Summit wag €I
India’ '
| : | es given
“elect the correct answer erm e it
VEIOwW
CUdeS n Oﬂl
d) 1 On}y (b) 2 y
1 eithe 1 nor 2
coth 1 and 2 (d) N° ;

RFL — |

103. o, 2ozoﬁﬁnﬁmﬁ@ﬁ?-mmw
1 YRYU H AT GESAT INE UK 8T 7
(a) &l 3IE

104. 1687 & s Mt I Magvel fhat T AR
foran, 3| T TicHUEl 1 WS hi U1 7

(a) A g8 Hdd W
(b) fasrex anfea =&
(c) 3reht 3nfeet wz |

) T W
105. MR & f=feafad g 2w § @ feaa Jarg, 2020
§ wrora Hifew & fore qud getie da1 W Aldery
T @ ?
(a) 9T (b) ¥eH
\/(,eawim (d) ST
106. fr=fafad &ual 4 @ Ha-a1/4 & 8/8 7
1. ST 3 T 3 wrghRal % fare A 3y
fayifta &3 &1 waE 6 91 |
2. 3hal A cisfhdl =l AU & caEd 8 31T
@y $ voo1 4 faae =1 & waaa € ot |
i fe M g &1 9= HEE I g |
%2 :
AT e 1
(c) 1 3 2 g
107. 3o amsfean wfte, 2020' % wwary § fisfafa
YA /HYA § | HH-HI/8 GEl 8/ 7
1. 38 ITEHI-WRA SR 9HEE g S
22 W3, 2020 Wt i fran |
2. T fawa (W) WA 1 guifaaantor o)

(b) had 2
(d) M1 2

f9 fed 1§ | W& IR G |

2

(a) o (b) hae 2

(c) 1T 2THI CIEGIRER V.




108.  Match List — | with List — || and select the correct | 10
answer using the codes given below the lists -

List - | List - Il
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and firmans
C. Mushrif 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
expenditure of State
Codes :
A B C D
(@) 2 4 1 3
(b) 3 4 1 2
(c) 1 3 2 4
(d) 4 1 2 3

108.  The Uttar Pradesh Cabinet has approved on 2¢9th

July, 2020 to establish a National Law University at
which of the following cities ?

(a) Kanpur (b) Lucknow
(c) Gorakhpur (d) Prayagraj

110.  Which of the following is NOT correctly matched ?
(@) Shaikh Moinuddin Chishti -

Ajmer
(b) Shaikh Burhanuddin
Gharib - Daulatabad
(c) Shaikh Mohammad
Hussaini — Gulbarga
(d) Shaikh Nizamuddin
Auliya - Multan

111.  Indian Minister of Youth Affairs and Sports

announced on 25" July, 2020 that in 2021 fourth
Khelo India Youth Games'’ will be hosted by

(a) Haryana (b) Uttar Pradesh
(c) Karnataka (d) Maharashtra

112, Which of the following Mughal period canals, was

constructed by restoring the Rajabwah of Firuz
Shah ?

(a) Shekhnu-Ni (b) Shahab Nahr

o X
\ §

.
RFL < if

8. T -1 T - 1 A gl e stk gt g

gﬁaﬁﬁﬁaﬁmﬁﬁm‘ aHt
g - | g - |l 3
(aferemrdt) (Fafem wet=a)

A §EH-T-7F 1. FETEE & @9 & fom

} 4

1
L 3
-

gl FT %

B
(@ 2 4
(b) 3 4
(c) 1 3
(d) 4 1

N D= =20

109. ST e #hmves ¥ 29 I, 2020 R Befatga
mﬁﬁmmﬁﬁﬁwﬁ’ﬂmﬁm
&1 AT foan R 2

) TGS

(d) SRR

() Nahr-i-Bihisht (d) Nahr-i-Agra

z.mmﬁamﬁ |

115

116.

11




on NASDAQ billboards in
on 29" July, 2020 ?

(a) East Bengal

(b) Churchill Brothers

(c) Mohan Bagan

(d) Bengaluru Football Club

114 Who among the following was
ook Kitabi-Nauras' 7 I Sufhor of the

(a) Ibrahim Adil Shah li
(b) Ali Adil Shah
(c) Quli Qutab Shah

)

(d) Akbar Il

115. The first ‘Kisan Rai,' of India started its journey on
8th August, 2020 between which of the following

two stations ?

(a) Ghaziabad and Howrah

(b) Devlali (Maharashtra) and Danapur (Bihar)
(c) Nasik and New Delhi

(d) Nasik and Ahmedabad

districts of U.P. a major

116. In which of the followin .
n which 0 g " d in collaboration

solar power plantwas establish
with France in 2018 ?

(a) Agra
(c) Deoria

(b) Ballia_
(d) Mirzapur

correctly matched 7
(Place)
Singapore
Osaka
Biarritz
Bangkok

7 Which of the following is NOT

(Summit) ¢
(a) East Asia Summit, 2020 . «

)
b) G-20 Summit, 2019 4
¢c) G-7 Summit, 2019 "
d) East Asia Summit, 2019

+os’ were 8
°° How many more ‘Ramsar 250',;%3 »

Uttar Pradesh in January,

(b)

(d) 12
of India the

; tes .
> In which of the following 3 t:tarted during the
first-ever E-Lok Adalat WS
Maharasht

COVID-19 period ? b)
(@) Uttar Pradesh ( d) gihar
() Chhattisgarh ( .

(
(
(
ded to

0

RFL - |

113. mﬁam-mme,W
¥ 2Tgw AR fRd dwes (NASDAQ) & fawels
W 29 JTE, 2020 H FE G FA AT Il
PR FcTd &A1 ?
(a) $&= &
(b) sfdfe wed

\/(9)‘&3??!’"?

(d) FTT® FeaTe T

frafefea § @ 19  frae-u-AR@’ A9 &6 Hl
oE® o7 ?

(a) ZoTfew anfew wg fadia

(b) 3reft Irfea w7

(c) FeAl P WTE
(d) e et

w6 el R Yo frefifea f @ R

114,

115.
¥ dfi9 8 3T, 2020 N G I W I 7
(a) mfvramaTg 3R EESI
\/fb)m(m)aﬁtm(ﬁm)
(c) it 3k 7% e
(d) Ty 3R HEALES
116, 3T wew & frefenea Rl # & feed 2018 4 i
¥ e A U gEg W1 Sl §EF I wiid fena
TR 7
(a) T (b) &feran
(c) <o R
117. frafefaa @ F-w1 g8 gafea T2 ?
- (Fm)
(a) ¥ TR weE, 2020 - FATR
(b) S1-20 FHEH, 2019 _  3rEr
M-mrﬁm,zmg _ faf=
(d) $ R @, 2019 - @ )

118. mzozoﬁ,mmﬁmﬁammwm

gree’ ® wfe feman T 7
(b) 6
(d) 12

W%ﬁq‘%ﬁauﬁiﬁﬁmﬁﬁﬁs-wm

119.
¥ qaeht T §-ae Irgrea I g 7
ey I e (b) WERIS:
(c) BIETG CRLL

-23-




123.  Which among the following hosted ‘Global

124.  Which of the following is NOT Correctly matched ?

125.

ke
120.  Which of the following tribes is NOT the native to the

Andaman and Nicobar Islands of India ?
(a) Halchu

(¢) Onge

(b) Rengma
(d) Shompen

e Pt v el 1 st Frarel i 2 7

(b) T
&It
Vel Py

121, ¥RA §EHR GR e 2020 | w19l 61 AT 2018

X
A3 o

(PN oo X oo | o -
. x ’ % S o o
o e 2 AT 3 -
A Tty N . . VRIS
- e L
’ & " R -
oA & 3 g
‘ ’} > » WIS o B T iy >
o S — Ty ST -

R A ferga wfode & awed § frfarfaa #ym)

122.  Which of the followin

1. India has 70% of to
POpulation.
2. Nearly 30%

tiger reserve.
Select the correct answer from the codes given

tal global tiger's

of India’s tigers live outside

below.
Codes -
(a) 1 oniy

(b) 2 only
(c) 1 and 2 both

(d) Neither 1 nor 2

griversis g Trans-Himalayan

river ?
(@) Jhelum (b) Sutlej
(c) Ganga (d) Ravi

Vaccine Summit’ on 4th June, 2020 ?
(a) United Kingdom
(b) United States of America
(c) India
(d) China

(Tribes) (Location)
(a) Angamis - Nagaland
(b) Birhors - Jharkhand
(c) Khas - Arunachal Pradesh
(d) Todas - Tamil Nady

‘Sarthak’ launched in August 2020 by Ministry of

Defence, Government of India relates to which
of the following ?

(@) Smart Bomb
(b) Rocket Launcher
(c) Offshore Patro| Vesse|

®YF H | wH-41/4 g8l 2/ 7
1. WRA ¥ fava &t et @rai 6 9@ #H 70% & |
2. YT & ST 30% sT9, &1 31EN0E] %

T8t T8d # |
ﬁéﬁﬁn&génﬁm@n
Fe :

(a) had (b) hee 2

(c) 1 3™ 2 & - ERRER V.

(g -femrera) 61 2 -
EVERL Y G
(c) T (d)

123. f=fafigs 4 @ fagy T JRAT grier o
4 31, 2020 = TSt oy o

(a) YA13e faey
(b) HYFT U=y 370y
(c) ¥R
(d) =
124, ﬁqmﬁéﬁw-maﬁgﬁﬁaa?ﬁ% ?
(Snfa) (sraterfy)
(a) 3w ~ AMMdvg
(b) fergrt - SR
(c) @g - SRS gy
(d) e

(d) Light Combat Aircraft

2.

ST 2020 1 yroey Ry
wm'ﬁwmaaa%gamma ?
(a) ¥1¢ 9y
B/ RIE TR e
(C) 39T Tyet Syayy
(d) & TTerg famry

127.

128
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RFL — ' 88

h IS -

:
o
:
?

answ.er using the code g::l::zes:';(;ththe Correct
(LL":tke)l T
A. Sala Lake 1 LLocati"")
B. Badkhal Lake o H;“;:zf;al Pradesh
C. Loktak Lake 3 ManipUr
D. Kaliveli Lake 4 Tami) Nady
Codes :
A B ¢ 'p
(a) 1 2 3 4
(b) 2 1 3 4
(c) 1 3 2 4
(d) 1 4 2 3

(a) Gujarat

(b) Haryana
(c) Punjab

(d) Rajasthan

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R)-

Assertion (A) : Ahmedabad Is the largest centre
of cotton textile Industry in India.

Reason (R) : Ahmedabad is located in Major

cotton growing region of India, so it has no
problem of raw materials.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A) is true but (R) is false
(d) (A) is false but (R) is true

On 27" July, 2020 Prime Minister of India virtually
Inaugurated three new Indian Council of M'edlcal
Research (ICMR) high-end testing laboratories for
COVID-19 test at which of the following places ?

(a) New Delhi, Kolkata, Chennai
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai
(d) Chennai, Delhi, Mumbai

RFL -1
126. @-uﬁqm-uag&%aa&ﬁuazanmﬁ%
1 fed %2 A w8 3w wf .
gt - | g - I
(3fte) (arafeafy)
A. 91 e 1. 3/IES Yol
B. 3@ 3w 2. g

C. Tihes sfta——3: wfirg
D. wreftaett s+ afirerrg

L A
\Aa]

A
4
(b) 2
(€) 1
(d) 1

L W a2
NN WWOO
W s bHbLrD

127. ﬁ%ﬁﬁémmmi*w-%ﬂm‘%@z
m'zﬁwwmaézozoﬁ%m% ?
(a) TS AT &

(c) 99T (d) TSI

128. ﬁﬂw%&n&%,ﬁrﬁqmﬁwm)m
TE ! FAOT (R) HaET 747 B -
I (A) : HEAIETE WRA | Gl 955 Ia1T 7 g&d
qS1 %5 R |
BRI (R) : HEHIETG WRA YW HI1E Iqed & 1
@Ja%,m%qsﬁmmﬁﬁémqﬁh

A2 A ™ %z ¥ 9 3w gfv |

F2:

AT (A) 3R (R) 2w § 3k (R), (A) 1wl
AT HT 8

(b) (A) 3R (R) 31 &8 & W (R), (A) 6 T
SATEAT & AT

(c) (A) &8l 8 fvg (R) TTera 2
(d) (A) o4 @ T (R) & 2

129. 27 91, 2020 1 YR ¥ TureE Y Sfofes 3 3
fpe T W Afae-19 wham ¥ S §5 3¢ e
fafecar amEuM oftse (M. wmam.) I=9-Avhi
TIET AT T T Igae e 2
(a) 7 feeeh, Hrawm, 3=
(b) hISThraT, FTer, yrad

ey 7§ feeett, Frerman, pad

O(d{%:d’ fewelt, g
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130. Which one of the following is the youngest
mountain range of India ?

(b) Aravalli Range

(a) Himadri Range
(d) Vindhya Range

(c) Western Ghat

Which of the following Airports in Uttar Pradesh
has been granted International Status on

24t June, 2020 by Union Cabinet of India ?
(a) Agra Airport (b) Prayagraj Aitport
(c) Gorakhpur Airport (d) Kushinagar Airport

131.

130.
(a) Temmst Ao (b) et A
( °Te (d)f%:-maaaﬂﬁ

131 FeORm & Prefafen § @ fr g @ #
asa::;,-"mnﬁmzaﬁyqa,zozoaﬁm@ﬂﬂf
witpa forar 8 7
(a) 3T gaTs 3 (b) SRS §TE 3T

(c) TRER &aT§ 3F ywmw
gt — | ) g — 11 @ gAfer A e g S

132.

gt - | gt -1l
(rgTa IET) (T=3)

A. g=radt 1. @S

B.rfra-}n\z. femom

C. HAHT 4 3. Tl

D dqar- 4. BHETG

C T
A B C D

e 4 3 2 1

b) 4 2 3 1

€ 4 1 3 2

da 3 24 3§ A o

133. fr=fafaa d @ fem 2w =+ a¥ 2021-22 & fou

HgFd T GL&T Ieg & 3yl §e9 & €9 ° 5H

2020 % T g AT R 2

(a) IS (b) a4

ey Afege! (d) SHATST

134. fafafea 4 @ $1F-a1 ad gofea @i ¢

(i) (I TR)

1. qrar ferrgt

Z.Gﬁxw/i el

3. W - e

4. 9199132 - &l

2 A M g2 @ v Iw g |

F:

(@) 13k 2 (b) 2 3% 3

(c) 13k 3 (d) 2 3 4

132. Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List - | List — Il
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 S 2
(d) 3 4 2 1
133. Which of the following countries was NOT elected
in June 2020 as a non-permanent member of
United Nations Security Council for the year
2021-22 ?
(a) Ireland (b) Norway
(c) Mexico (d) Canada
134. Which of the following are NOT correctly matched ?
(Mineral) (Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari
3. Manganese - Bhilwara
4. Bauxite - Katni
Select the correct answer from the codes given
below.
Codes :
(a) 1and 2 (b) 2and 3
(c) 1and 3 (d) 2and 4
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g Statements about New | 135. 29 qeé, 2020 F! WA & H=a FHAAUSA AT

4 Cabinet of India on 2gth Ju,);,' gggl(')oy ed by Union wipa 7§ Ui e ffy ¥ gra-y § Frafafad
1. It was drafted by a Committee FyA 7 famm T
Dr. K. Kasturirangan. TSRy 1. 78 <. %. HEOCE H seaEdr e gfufd
2. It will replace the previous Equcati - Y TS oAt |
| tion Pol art
which has been followed since Jast 38 . 2. 77 fama 38 9§ & = frwe R Aifd =1
years. >
l
Select the correct statement picy Fort
given below. (s) from the codes 9 e ™ %2 @ FE FU/ %! FMHT |
Codes : L T4
(a) 1only (b) 2 only ey e 1 (b) H 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 13 2 2 (d) T 178 2
136. Valley of Kashmir is situated between 136. HyHR 9Tt a8
(a) Kangara and Dhauladhar ranges (a) FITeT AR AT gaq- SRt % 99
(b) Pir-Panjal and Himadri ranges \_(by fR-varer 3R fEmmsd gaq -3t % 5
(c) Mahabharat and Dhauladhar ranges (c) TENRE 3 demr gda-4fEl & 7
(d) TR-daer 3tk wENTE Tea- ARl % Hed

(d) Pir-Panjal and Mahabharat ranges

—a

137. Which of the following Indian States/Union | 137. RAreferfes & & s o /d9 Tsg8E gl 7 3R, 2020

Territories launched Electric Vehicle Policy on F g =1fera T AT e S TS R ?
7th August, 2020 ? b) TR R
'a) Madhya Pradesh  (b) Uttar Pradesh (a) HEATT |
(c) Delhi (d) Tamil Nadu (o) (d) AIIETS
138 Consider the following tributaries of River Yamuna 138. Wﬁﬁmgmq?“m Eﬁliﬁ.lQ
and arrange them from West to East : 3R 3¢ ufem | T’i <l P9 | SHEfeT I :
1. Betwa 1. &l
2. Ken 2. %A |
3. Sindh 3. fory R ey
4. Chambal . 4 IJEA |
Select the correct answer from the codes given A3 23 ™ %2 @ 7@ 3w I |
below 1
e b Hadld B) 1,2, 3a0d4 (a) 4, 3, 13 2 (b) 1,2, 33N 4
i d) J dal y &y
' ©) 3 2 1and 4 @) 2.3, 1and 4 \/(zrs,z,mﬁu (d) 2,3, 13K 4

139. fr=feafed & @ fra YR $RvESIH 3 31 2020

B Which of the following Indian Foundations has
received the Food Vision 2050 prize in August i %g fas 2050 IEHR Y foRam 7
(a) TITE FIRUSYH

020 ?

3) Smile Foundation o7 < HIIVEIH

) Naandi Foundation (c) TS HIIVEIH

C) Adani Foundation AETag FTIVRTH
(d)

J) Reliance Foundation

ich one of the following is NOT correctly [ 140. Prfafes § @ $H-81 T qd @fed T@ie ?
el e (3) (Firg—frer 3eaes )
- s ;
; roducing Area) (a) TR i
Bkhstan - Karaganda | (b) T - fwadwm
i - Kivoy Rog (c) - A
gy - Normendy (d) S JR—

- Pyrenees
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First ever containership from Kolkata Port to
Agartala was sent through which one of the

following Ports of Bangladesh in July 2020 ?
(a) Benapole

(b) Maloti
(c) Payra
(d) Chattogram (Chittagong)

In which of the following regions of the world, the
production of citrus fruits is well developed ?

(@) Monsoon regions

(b) Tropical high lands regions
(c) Mediterranean regions
(d) Equatorial regions

Who among the following has been awarded with
the ‘Life Time Excellence’ Award in Earth System

Science in July 2020 by Ministry of Earth Sciences,
Government of India ?

(@) S. Suresh Babu

(b) P.L. N. Raju
(c) S. P. S. Kushwaha

(d) Ashok Sahni

Match List — | with List - Il and select the correct
answer using the codes given below the lists :

List - | List- 1l
(Tropical cyclones) (Country)
A. Baguios 1. Australia
B. Hurricanes 2. China
C. Typhoons 3.  Philippines
D. Willy-Willies 4. United States
of America
Codes
A B C D
(@) 3 4 1 2
(b) 3 4 2 1
(c) 2 3 4 1
(d) 2 1 3 4

With reference to Eutrophication, which of the
following statement(s) is/are correct ?

1. It decreases dissolved oxygen of water.

2. Itis a phenomenon of nutrient enrichment
of a water body.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

S
N =

. wIHTdl A rmaen % U ugeh
- m%zozoﬁm%ﬁ% 1
i § fpm agumE A B W1 T 7
a)%mtﬁﬂ
‘/fg)ﬁv
(d) wgrum (faei)
142. fava ¥ fr=fefea veui # @ frod @2 & e 147.
%1 IqTeA 5gd faefaa 2 7
(a) AR &
(b) IwTHfeE-Hia Isayfi weu
) AT e
(d) G JeT
143. gt fagm waTeE, R @R gRT s 2020 #
frafafiegs 4 @ fFa gedft yoreft fagm o <mw
2139 Icheedr’ GO WeH ferar T @ 7
(@)@ GUEY LB N T W T 148
(c) ug. di. wH. HyEEl  (d) S A
144, &t - | &1 gt - 1| & gafoa Hifve qur g &
ﬂ%ﬁﬁﬂﬁwﬁaﬁmgﬁq:
gt - | gt - |l 149
(SurrRaia wwam) (39)
A. ST . e feran
B. & 2. &=
C. TRPA m
D. farcfi-facfis . GgE T ST
e 150.
A B C D
(@ 3 4 1 2
AT 3 4 2 1
) 2 3 4 1
d) 2 1 3 4

145. gaNU (FEHIhTH) F gray § Sefafes § Q
HH-71/Q HUF T /& 7
1. 98 9 4 gfera sedfiom =t w5 @ 2
2. 98 9t Frhr % divss qe wav 6 we @ | | |
4 fed ™ g2 @ wd 3w gfv |

e
waiaaz

(a) &ad 1
(c) 11 2 i (d) Fa 1782




& ing range IS SitUate

1 fr 27!; wing coasts of AUStrali aa,;Ong whiCh
) North-Eastern Coast

"M southern Coast

. Eastern Coast

. South-Western Coast

- Arrange the following

. Svents ;
order of their Oommencement ; y °hr0nologica|
. Project Tiger
|. Project Elephant

II. Wildlife Protect Act
V. Biological Diversity Act

usin
s 9 the cogeg given
Codes :
OINININLY; (®) 1,1, 1v
c) M 111, IV (d) 1, v L, 1l

. . 8 Ocean Curre
associated with Indian Ocea

n?
(a) Florida current (b) Canary Current
¢) Agulhas current (d) Kurile Current

vanous components of an ecosyste
a) Bio-geo-chemical Cycle

0] Bio-geological cycle

°) Ecological succession

J) Biological cycle

m s called

Match List — | with List - Il and select the correct

“iswer using the codes given below the lists -

List — | List - Il
\Ethnic Group) (Country)
A. Jews 1. Egypt
8. Teda 2. Iran
C. Beja 3. Libya
D. Lur 4. |srael
Codes :

A B C D
a9 1 2 3 4

4 1 2 3

4 1 3 2

4 3 1 2

RFL - |
146. gﬂ%h .
T
F)zﬂ@mg@%m%%aﬁﬁm
%) ST 12
DTSRy v
(©) 9t e
(d) Wﬁ-wﬁazﬁ T
147, ﬁq%mﬁﬁﬁm%mﬁ
Tafeyg i
| Mg TR
. S amef
. T35ty ey Ifrfrm
IV. S fafaean Iy
23 LRRCE R - T |
(a) | I, 1, v (b) 11,1, IV, 11
ACTL L 11 1y (d) W, v, 111

148, ﬁn‘%ﬁaaﬁﬁﬁ?-mmr&qum%zm
4 Tl 3 -

(a) weRfer g

(b) &t umg
(C) '™ ymy

AT RS um

149, mwﬁ@mm%ﬁmmawm
aﬁ‘immm%
(8) 9-¥-Tom w3

(b) ST-yrfifes =
) TRfRfoe argm
\/g)mw
150 —| & -uﬁg&%aﬁhqamqf%ﬁ%
Eﬁﬁn&gﬁwsﬁtﬂﬁm
gt - | it - |
(it w)

A B C D

(@) 1 2 3 -
(b) 4 1 2 3
‘/(q/ 4 1 3 2
@ 4 3 1 2
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